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a  42 – 14 = ________

b  54 – 36 = ________

c  83 – 27 = ________

d  65 – 48 = ________

a  64 – 18 = _______

b  541 – 334 = _______

c  236 – 185 = _______

d  565 – 282 = _______

e  314 + 77 = _______

f  68 + 423 = _______

g  635 + 86 = _______

h  79 + 542 = _______

e  615 + 147 = ______

f  368 + 423 = ______

g  345 + 286 = ______

h  679 + 372 = ______

i 828 – 419 = _______

j  741 – 358 = _______

k  534 – 267 = _______

l  672 – 186 = _______

i 238 – 119 = _______

j  941 – 825 = _______

k  374 – 238 = _______

l  492 – 493 = _______
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+ 15 24 37 46 58

19

– 4 5 16 27 38

6

+ 27 13 56 35 42

58

– 14 35 26 29 45

27

4 Indsæt tal så resultatet passer.

a  –2 + _________ = 14  b   ________ + 20 = 14

c   27 – _________ = 14  d   _________ + 26 = 14

e   6 –_________ = –3  f   _________ + 13 = –8




